EARAROBREBRT —5 XN—ZXBISH—F

2023%888H (X) 6MIEEMF3H

i C 2—# SR B
[AXE%€]) 1%&:350,000H  2%&:123,000H  33#%:70,000M  43%&:46,000H  53&:25,000H
RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
— N I : - - FENR (KR
FILF4TRZ B4 24 1.(2_6).8 1-1 39.0 1 (5+157) i Kﬁ;&z%
RiFVVvH/FEF BIAUIAIAUR g e
FRAATATEYR 4 9 gf&gﬁ&‘ 1:(29%.2 4-3 38.9| — 4 ‘:8)2 %ﬁgﬂu EKGR)
RYIRI4 TSR B:IVITaFY BR&EME KEXT—TI
VEE t o4 | HER 1:28.4 3-4 39.3| - 2 457 | =B=E (KR)
AUTIIVE : 5.0 (a8 w) | & 7IIVF
RiROSAVT B:FITIYNFIRF Pu e ]
IAYYZ7IL3R # 5 | B 1:28.5 55 (388 — | 6 | 497 |FEER KR
(172) -2) BHN
RN B:eSLS SERUS
NAA LY RE= it 6 é’%l}‘)ﬁ— 1:(218).7 5-6 38.8| - 3 (4_534; gg%ﬁ (KR
R:O—IRA XA By RFE—F pabukie
~//\%n S 5 | XIS 1:29.8 2-2 0.7 - 5 49 | =EHEE KR
IV kIS o i & o | @ 7ITVF
R:FUBAZAIVR 8:OVNy h7IVY Il #R—
@ 11— —BRIEfL
13—7F—
20—F—
IT=5r= 2,3,4,5,(1,6)
40—7F— 2,3,5,4,1,6
o ILRE
BB 2 170 JA R 2-5 220/ B E 2-5 490M 3ER 2-4-5 5004
B B 2 1004 2-4 130M =51 215 1,110 3Es 2-5-4 2,750
5 2504 4-5 270

ABIC OV TRUTEREERRODDZE. THRIIZEL.




